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or all govt. exz BY ADITYA RANJAN SIR

What kind of questions are asked on Circular Track?
gdrg 99 WX foRm T & uvH U9 W 27



MATHSEI): r all g pXa | BY ADITYA RANJAN SIR

(i) « After how many seconds they will meet for the
first time? /f&as Ua&hs & @€ 9 Ugell a0 e ?
A>Sms”!

Same dir 8- 3mg-! QEEOsife dirD
g4 1 :% = Q§ 30sec.






MATHSEI): pr all g¢ pXd » BY ADITYA RANJAN SIR

(i) « After how many seconds they will meet for the
first time at starting point? /ysa3Tar fag uv o faa

H&e & are faan?
ty- % U8 sec .~ A > 5mls
B> 3m|g







W) AMAT HSEG)I): or all govt. exz By ADITYA RANJAN SIR

(i_l'i 3_(-1'2—5-%’-;9— (iii) * At how many points on the track they will

@ meet?/d 2% W famaq ﬁaﬁaﬁ T fae?
Method- 4 Methad -2 vl

/\ Shovt Tricl
Same 9Pp- /\

d Same
7% S 08 — Opp
o % S3)  (sw)
L - N A
S> g 2



r all g PX3 BY ADITYA RANJAN SIR

e When will be their n* meeting?/d n @ @ &a
faein?



30Vt exa BY ADITYA RANJAN SIR

Just imagine,

Two persons are running on circular track, when
they will meet for the first time?

g1 JAfth Mo <& UT d18 12 8, 9 Ugell an &a faen?

For the first meeting the faster one has to travel
one round more than the slower one.

ueelt A fuem & fow a9 nfs | <rg ae & o nfa |
areH At | Ush waeh? aifeeh ThHT ugar 2
Slow Fast
A B
X round (x + 1) round




yovt. exz By ADITYA RANJAN SIR

Example :

A—>5m/s; B> 3m/s; Track length > 240 m If
they start simultaneously from the same point in
the same direction.

afs 4 s € faom &t 3w uw & fam @ uw @ dre

& Hd B

(i) After how many seconds they will meet for the
first time? /f&a W&z & @@ @ ugen an fae?

B-3m/s 9’.

Track length
240 m




(i)

30Vt exa BY ADITYA RANJAN SIR

After how many seconds they will meet for the
first time at starting point? /vy&adl o= o 4
forae Ao & ae fuen?

A->5m/s;B—>3m/s; Track length > 240 m If

they start simultaneously from the same point in
the same direction.

afe 9 u & faom &t o3 s & fag ¥ uw wg e
IE HIA B

Track length
240 m




or all govt. exz By ADITYA RANJAN SIR

(iii) At how many points on the track they will

Track length
240 m







MATHSRE)I): or all g

t=D .
S 2yo 1

[@ =920 Sec.

i

BY ADITYA RANJAN SIR

Ali and Badal start from the same position and
at the same time iwmr race,
with speeds of 27 km/h and 45 km/h,
respectively. Find after how much time they

will meet again on the track for the first time
when they are both running in the same
direction.
3T 3T ATEE Ueh B T4 | 307 U & 99g ° 1200
m AT 218 § HAY: 27 km/h 37T 45 km/h &t
T | ETST T &id 8| 7a airan o F faae
O9g @12 UA: 26 U gl A fHei 9| A 24 Ua el
fawm & =g @ =0

SSC CHSL 01/06/2022 (Shift- 2)

(a) 280 seconds \(9640 seconds
(c) 250 seconds (d) 220 seconds




By ADITYA RANJAN SIR

In a circular race of 1600 m, A and B start
from the same point and at the same time

with speeds of 27 km/h and 45 km/h,

respectively. After how—tong—will they meet

again for the first time on the track when they
are running in the same direction?

1600 m @ AN 32 § A ¥ B ¥ fag ®
3T | U U HAY: 27 km/h 31T 45 km/h
® AT W IR a2 W F "o favn o A @
£, o feay 9ug @@ A 2% W uEelt A T fae?

SSC CGL TIER I 21/07/2023 (Shift-03)

(a) 90 sec \(b'r 320 sec
(c) 240 sec (d) 180 sec




BY ADITYA RANJAN SIR

Sohan and Amit started a car race from the

same point in the same direction and at the

same time on a circular track of length 1125
m with speeds of 36km/h and 54 km/h,
respectively. After how e (in seconds)
will they meet for the first time since the start
of the race?

dred AN wfua 7 s & fag ¥ um & favw 9 aiw
U B 994G U7 1125 m #@E & Us gArahi 2 UT
#ayl: 36 km/h 37 54 km/h & o1 ¥ U &
TH i IHATE Hil 19 IE g4 & Ag ° feat wug
e (Hehe W) F ugeln a fasn?

(a) 220 (b) 215

(c) 210 \(dy” 225






By ADITYA RANJAN SIR

Three persons P, Q, R run along a circular
track at speeds of 3 km/h, 4 km/h, 6 km/h,
respectively. If the length of the track is 36
km, then after how much time will they meet
again at the starting point?

i =afw P, Q, R U FHTHRI 2% UT THUI: 3
feddt /21, 4 faddt g2t 6 Tarddt/geT &t =@ | =S4
2 afs 2% & wag 36 foedt €, @1 @ fvr |
yreaTal fag v fas wwa &g fue?

SSC CPO 10/11/2022 (Shift-02)

(a) 38 hours \(966 hours

(c) 24 hours (d) 28 hours



COMPLETE OUR or all govt. ex: By ADITYA RANJAN SIR

_M 240 - 480 4. In acircularrace along a track 3600 m long, X
/3/ and Y run at the speed of 27 km/h and_is km/

h respectively. Suppose they start walking at
the same time and in the same direction, then

-L _3se0 = 444x2 =988 when will they meet again at the starting point?
,5’967% 3600 W2t #d 2 @& 3y Us gurawhiw 918 °, X
3T Y wuyn: 27 Tt der 3w 45 faadt gzt fr nfa |

Qng LM (Y80,288) ¥ e UTE WA £, A3 fer ) e fag ww wa

SSC PHASE XI 27/06/2023 (Shift-01)

(a) 720 sec (b)y"1440 sec
(c) 2200 sec (d) 1200 sec



) 1N AMATHSE)I): sy ADITYA RANJAN SIR

M 4o sec- 6. Two runners, Sony and Mony, start running on
)87 a circular track of length 200 m at speeds of
/LB/ 184% 24 km/h, respectively, in the same
direction. After how much time from the start
{-m = %0 - 30g¢ec. will they meet again at the starting point?
T et . S S e
AN . st nfaemmy, We si AR, T A Faom W O 18k
31T 24 km/h, &1 =6 ¥ 200 m #aTE & U FHARN
2 UT SS9 Y% hidl g1 3N | e wua e 4
Km (40,30)= 120 % W AN E wE §) 9w |

frr | yreandr fag uv fuet?
GL PRE, 14/07/2023 (Shift-1)

(ay 120 sec (b) 110 sec
(c) 100 sec (d) 90 sec



) N AMATHSEO]I:

5 to= 48 3 Lo
$, 1}1%25 2" 2%

- (49
LM (S,3) =

HCE (2,()

= 1S
L

BY ADITYA RANJAN SIR

In a race around a circular cycling track of 75
km, two cyclists are riding at a speed of 30
km/h and 25 km/h. After what time (in hours)
will they meet at the point from where they
started their journey?

75 km & Ush gHThN HEfehel 2ah & Uid: U 28 |
a1 arzferet waw 30 km/h 3T 25 km/h & =T |
arzfaret oo 1@ 21 fofes wog (92 o) & @e 9 39
fag ww faci, sl & 3= AU g v i 9i?
CGL PRE, 14/07/2023 (Shift-2)

(a) 16 \(V
(c) 14 (d)/ 15




e
oM = U+3d

BY ADITYA RANJAN SIR

Anjali and Babita are running on a circular track
in opposite directions from same time at same

————————
point with speeds of 8 m/sec and 6 m/sec,

respectively. If the length of the circular track
is 960 m, how many times distinct points they
will meet?

uw & fag ¥ faudia favmst o a9 8 m/sec 3117 6

m/sec & WA © =g TE & afg FAIHN & i
T 960 m ¥, @ A em-avem fuem fagen w
farast & faeir?

SSC CHSL 09/06/2022 (Shift- 3)

\(7/7 times (b) 6 times

(c) 12 times (d) 14 times



MATHSE)I:
sy 9 - 3/¢
Ong = Q+3=9S

By ADITYA RANJAN SIR

Two persons started running on a circular
track at a speed of 20 m/s and 30 m/s in

_qu%gg{eﬂ;‘_n_s. If the circumference of
the circular track is 100 m, find at how many
distinct points they will cross each other?

a1 =afaga U gt ¢ uv faudta fawmer & 20
m/s 37T 30 m/s & I@ H FFA IF &d B
afs gt ug @t afifes 100 m ¥, 9 A9 wifew
ff o uw-gut &t foas sem-sem fagasn ov o
7

SSC CGL TIER I 19/07/2023 (Shift-03)

(a) 2 (b) 3

\(o15 (d) 10
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By ADITYA RANJAN SIR

10. Two friends P and Q simultaneously start

running from same point around a circular
track. They run in the same direction. P runs
at 6 m/sec and Q runs at b m/sec. If they cross
each other at exactly two points on the circular
track and b is a natural number less than 6,
then how many values can b take?

a1 fax P 37 Q U% W19 U& guTehY & UT Uah &1 fag
¥ T IT% de | F U g1 faym o drsa €1 P, 6 m/
sec i AT | 31241 ¢ 31T Q, b m/sec & =T A
grgar €1 afs F gere Uy w S a1 fagai uwr U
AT W 9N &I § 3T b U Wiga W& ¥, A 6 A
&9 &, a1 b & faraw ur &7 "ahd £72

(a) 2 \9)/1

(c) 4 (d) 3




1om s~




MATHSEI): pr all g pXa | BY ADITYA RANJAN SIR

&L“?%" 11. A, B and C run simultaneously, starting from
ch+3- _JZQO: 600 § ¢ Ce. a point, around a circular track of length

/2/ # 1200m, at respective speeds of 2m/s, 4m/s
and 6m/s. A and B run in the same direction,

th4c = | IS0 S while C runs in the opposite direction to the
/2/ other two. After how much time will they meet

for the first time?
. Lem (600, 150) A, B 3T C U& ¥4, Us |9 faig | 2= y& &id

69D5¢ind - ¢ £13 1200 m &aE & Ush gAY 2ah @ Tiid: THu:
-723Llom,-,\ 2m/s, 4 m/s 31T 6 m/s & =61 | 224 1 A 3
w4 B U# %1 faun ¥ drza €, wafe C o= &1 & faudia
faym & Srzar 81 F uge A e wwg & @ faen?
\“( SSC CGL TIER I 17/07/2023 (Shift-02)

1

O minutes (b) 9 minutes
(c) 12 minutes (d) 11 minutes




(1)

\@/{20 seconds

BY ADITYA RANJAN SIR

A, B and C start running simultaneously on a
circular track of length 120 meters from the
same point with the speeds 2m/s, 3m/s and
6m/s respectively. A and C are running in anti-
clockwise direction and B is running in a
clockwise direction. Answer the following

questions:

A, B 3T C & #1 fag ¥ 120 Wiz &4 garehn 2@ o
#UY: 2m/s, 3m/s 30T 6m/s & Tfa A Fre IEW
F7d T A 3T C amrad faymr § Sz ® ¥ 3w B
afgomad faom o Sz wr 8 fefafaa waetr =
After how much time from the start all three
will meet again at the starting point?

urw & fared wwa A @ O unfaes fag av faein
(b) 60 seconds

(d) 90 seconds

(c) 75 seconds



s = Lm (30,24)

120

(ii)

BY ADITYA RANJAN SIR

A, B and C start running simultaneously on a
circular track of length 120 meters from the
same point with the speeds 2m/s, 3m/s and
6m /s respectively. A and C are running in anti-
clockwise direction and B is running in a
clockwise direction. Answer the following
questions:

A, B 37 C U= &1 fag & 120 W=7 @@ g 2% W
wUY: 2m/s, 3m/s 3T 6m/s T N W LA IE
A B A 3T C amrad faymr 4 25 1 £ 30 B
Ffgomad faom o g Ty §) Frofefas gaen
T 3

After how much time from the start all three

will meet for the firs t time anywhere on the
track?

er¥ir)

(a) 150 seconds (b) 60 seconds
(c) 7S seconds ( 120 seconds




MATHSE1I: or all govt. exz | BYADITYA RANJAN SIR

are - 928 20 -

13. A, B and C start running simultaneously from

}9/ 80'“5"6 5 7%(g point on a circular track 600 m long with
qow.l'speeds of 40m/s, 70m/s, and 80m/s,

thic= o 5 respectively. A and B are moving in a clockwise
/(2«0/ direction, while C is moving in an anticlockwise

direction. After how many seconds will all the
: three be together for the first time on the

ag= (Cm ( S,20) track?

= 80 Sewond A,Baﬁ'rcso?jfma'%mﬁwqmﬁ?ﬁ
HAYT: 40 Wizt /Aah s, 70 W2t /HAahs 3T 80 HieT /A
&t Tfa ¥ Er80 I[E &Id &1 A 3w B Ffvmad faom
4 gy 17 &, Wafes C amrad faom o gu wer €1 fmew
(a) 30 seconds ) 60 seconds
(c) 75 seconds (d) 90 seconds




14. Racer A and racer B run a race of 18 km on a
circular track of length 800 m. Both complete
one round in 200 sec and 250 sec, respectively.
After how much time from the start will the
faster person meet the slower person for the
last timre?—

gras: A 3T B, 800 m &aTE & U gwid 94 uT 18
km @i 91 9124 &1 1 A9 200 sec 3T 250
sec W Ush Taah? YT &¥d £ 218 3IWW 71 & fomae
9T 919 99 SAfaq ety =afaa 9 i aw faem?

SSC CGL TIER I 17/07/2023 (Shift-04)

5 @ (a) 2700 sec (b),/4000 sec

oo (c) 2250 sec (d) 1800 sec







BY ADITYA RANJAN SIR

15. Having started from the same point and at the

same time, two runners - P and Q- are running
around a circular track of length S00m in
opposite directions with the speeds of 6 mlgnd
10 m/grespectively. If they exchange their
speeds after meeting for the first time, who
will reach the starting point first?
s & fag | 3w uw & wua v dre vE @ e, a
m-PaﬁTQ—m:Gm/saﬁTIOm/saﬁ
Il 4 500 m @A Ush gATERN 2k @ Uia: faudta
faomstt & 912 @ €1 afe 9 vgeh aw faem & ag sroeT
SSC CGL PRE, 25/07/2023 (Shift-4)
(a) Q
(b) P
(c) Poth P and Q will reach at the same time
(d) No one of the P and Q




MATHSREI: or all govt. exz BY ADITYA RANJAN SIR
+t=D 16. Ram S are racing along a circular

S ,"120/ Qo . g track.," emspeed of Ram is thrice the speed of

:) /&"ﬁszm R ' Shyam. The length of the circular track is 1440
o Spud 3\‘(%1% m_After the start of the race from the same

_point _simult-aneously, Ram meets Shyam for

_ , , the first time at the end of the 8th minute. If

% = Qom/min x_>—m/mmRam and Shyam start the race again from the

PN NN i 16 same starting point simultaneously.(then the
time taken by Shyam to finish the race is:

‘(‘-Shaam - = Mé M = [6min (given e le e as

the length of the track) e Q& R
T 3T YA Uk TN 99 O ATg TE €1 T w0

VAT W AT W A A § G UG i waE 1440
m ¥ % 1 fag ¥ vw g I 9w E9 & A, T
84 foz & 319 § ugen aw vam | faemr €1 afz
3N vaTH U € unfaes fag % v g fer | 9 o
wd §, 9 972 "urE A o vam g femr wan wwm
2 (7@ ¢ & 92 &t #ad 99 &t #aE & 999 )

SSC CGL (PRE) 26/07/2023 (Shift-2)
(a) 7.5 min (b 16 min

(c) 30 min (d) 22.5 min



ATHSE): or all govt. exz By ADITYA RANJAN SIR

Jst aneeti (‘l:) ” Q/ — 110 s 17. Joy and Kat run around a circular track of
(6 length 1100 m in opposite directions with

g™ " () (005ec 6MS” 54 K Yy, :::clti:zr;ds:r:n: f/r:: t:!:ds:mzl ::::t’

ﬁ/ whenever they meet, Joy's speed halves and
Kat's speed doubles. After how much time from
'O the beginning will they meet for the second time?

ee——me——
e

W1 3T %2 1100 m @@ & UH AET ZH F
ufta: %uvT:_6 m/sec 3117 4 m/sec # UNIfa®
wte | faudfm faymed o 2vga & wm ot & foew #
IHT farg | 9T ®Ta TU, A &® AT ST Z AT
£ 3 &z & ure FINTA B ATE ¥ A yTEIE |
fee? awg & @e FEd aw o n?

SSC Phase X 05/08/2022 (Shift- 03)
(a) 220 sec (by210 sec

(c) 190 sec (d) 200 sec



